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QUESTION 1

An EMC Partner has a 1 X 4 Avamar server. They are backing up 4,000 desktop and laptop (DTLT) clients. Each client
takes up to 20 minutes to complete a backup. 

How long would it take to back up all the DTLT clients? 

A. 4.2 hours 

B. 4.6 hours 

C. 5.6 hours 

D. 6.2 hours 

Correct Answer: B 

 

QUESTION 2

An EMC Avamar customer has started backing up their Oracle 11g databases with 8 RMAN channels using RMAN
scripts. They see that backups are timing out and unable to send CTL messages. What should you advise the customer
do to fix the issue? 

A. Minimize the number of RMAN channels. 

B. Use a single set of cache files. 

C. Disable RMAN backup optimization. 

D. Ensure /var/avamar has proper permissions. 

Correct Answer: A 

 

QUESTION 3

An EMC Avamar customer notices that a client\\'s Progress Bytes and percentage NewBytes are not being reported on
the Activity Monitor while a backup is in progress. The backup reports "Completed with Exception(s)" when finished.
What is a possible cause for this issue? 

A. cid.bin file is missing on the backup client 

B. ascd is not running on the Avamar server 

C. avtar.cmd has been deleted on the backup client 

D. Dispatcher table file is missing on the Avamar server 

Correct Answer: A 
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QUESTION 4

A backup administrator in a large VMware farm noticed that backups are no longer completing within the backup
window. The VMware team is concerned about adding more proxies. What is a potential solution to this problem? 

A. Increase CPU resources assigned to the existing proxies from their defaults. 

B. Increase the number of concurrent backups per proxy from 8 to 10. 

C. Increase the cache file sizes on the existing proxies. 

D. Add an AVE that can share the existing proxies and vCenter. 

Correct Answer: A 

 

QUESTION 5

An EMC customer has purchased a new Accelerator Node for their NDMP backups. During the configuration process,
you receive an error that there is an authentication error. You discover that the \\'ndmp user\\' is not created. Which
command is used to create the user account? 

A. server_user server_2 -add -md5 ndmp 

B. server_user server_all -add -password ndmp 

C. server_user --server_2 -create ndmp -password ndmp 

D. server_user server_2 --create ndmp 

Correct Answer: A 
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